Crib 4D5

‘-‘ F('OM AC\\'cs\o OOL

6590 270

4.5 ¢ \

> fesshana \@A kRN /m

2 4~ — — — __L
v

Aefﬂ. ™

L ) P\ le res{rcurm& (1\' heo.& no Ben&m& fq; ‘Urt SO f’-"e
th\ns\q\ es Hnroua\\ sotL l
Res (sknu ts area 3 \e&\r o‘ %"&P\\ ..

!
F = O x 25 + 210 x 20-5 + /2“ 210 x4-5

- (-2775 MN

C) Fai lore l)-.s benAm% % either due to c Smage h nge at

l’o P of h.oo T\ to F and ot AQP“\ .
; of ;



=
doy {2 pe v %) da
Sz 92 1% |
\—————’w___—/
e
© h
A ds’ 4=
< g .
DL T
q,lplus o] .
P 4 ‘ _
G [F e N
7 plug
PR p,wa)ﬂ_zxg
% - e

2/



COﬂS\Cl(’f 2 hm%zs lf k > 4:5m ?)/,( t

] o Morents Shear  forees
h :_ 270
Aﬁ*—;%\
MF O

-ﬁl\lm& mo:mnl’s cbout 50 L\ S orQC\Q :

2
= \O x45 210 x(h—45)xh 45
2 MF (oOb 5 2\0 y 3 (’;}"
2 2
2126.25
30k s la7s o+ 1OS W - los
= e h?45m => MP> 53N,

Mp=  G7-5h" +\AQAMT

Hor(zonl'-\\ %Lm

H= GOk + 210 (h-45) + 210 %45
2

270n - 472-5

q
H = 270 | MpiTlown _ 472.5
61-5



d)

no “nmap_ vS \ "\m%e
S40 [ Mp 135084 55925
270
Mp = 8366C kNm
no \\mzz vs 2 \mnazs
970 | Mp +70®MY  477.5
G67-5
41478 -5
4 "Nm

MP:

Se MP 7 33666 kNm

r . - 2
026“3 1.5 x 200
MOﬁ\' reahshc P!lCS U‘U "Ou \ Y2

| hunge

Q1

t277-5

= ‘%b mn

bend. n nth

Not avery popularquestionooking at lateralloadingon piles, but reasonablyvell handledby moststudents
who attemptedt fully. Severaktudentsvereobviouslyrunningout of time andsubmittedncompletesolutions.
Somestudentdeft the pile capstationaryandmovedthe pile, ratherthanvice-versaleadingto anincorrect

assumptiorof relativepile-soil displacements.
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Q1	
Not a very popular question looking at lateral loading on piles, but reasonably well handled by most students who attempted it fully. Several students were obviously running out of time and submitted incomplete solutions. Some students left the pile cap stationary and moved the pile, rather than vice-versa, leading to an incorrect assumption of relative pile-soil displacements.
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Q2
A very popularquestionansweredy all candidate®n friction fatigueandstressesluring pile driving. Almostall
candidatefiada goodgraspof the processesvolvedbut variedin the completenesef their descriptionsThe

derivationof stressesn a plug waswell handledoy mostcandidates.
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Q2	
A very popular question, answered by all candidates on friction fatigue and stresses during pile driving. Almost all candidates had a good grasp of the processes involved but varied in the completeness of their descriptions. The derivation of stresses on a plug was well handled by most candidates.














Q3

Thiswasa popularquestionon lateralloadingof multi-leggedstructure Studentsdisplayedgoodgraspof the
conceptgelatedto the bearingcapacityof shallowfoundationsMost studentsdentifiedthe needto asses¥-H
interaction.Therewassomesloppinessn labellingloadsfor onefoundationvs total structuralloadswhich caused
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Q3	
This was a popular question on lateral loading of multi-legged structure. Students displayed good grasp of the concepts related to the bearing capacity of shallow foundations. Most students identified the need to assess V-H interaction. There was some sloppiness in labelling loads for one foundation vs total structural loads which caused quite a lot of errors.


Q4

The questiorwasattemptedy moststudentsin general studentslisplayedgoodunderstandingf thevarious
methodgo assessettlemenof foundationsputhadmoredifficulty in identifying soil non-linearityasa cause
for discrepancies theresults.Studentsalsoperformedwell in termsof applyingthe designfactors.


gb479
Typewritten Text
Q4	
The question was attempted by most students. In general, students displayed good understanding of the various methods to assess settlement of foundations, but had more difficulty in identifying soil non-linearity as a cause for discrepancies in the results. Students also performed well in terms of applying the design factors. 













